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1 Flnd an equatlon of a line in the form y = mz + b which passes through the points
‘ -+ (1,8) and (=1,-2). S oo
A9 “m:vvy«._z R T MR
St I B
| - , Z
b =

il

_ <
JT2xes

s 'Réti(jna,lize the denominator:

ybiou 76 L/ f‘-ﬁz (x4

r f xt2 g TVt

1*1'

uZy oy - L. Zy

¢!
———



Homewoerulz L 5Rbo02s e . MAI1SIM
e 4 Expand x(\/——\/-) el T g i il
J(‘/’ 74/ ““’* x ) o —;x

3 5 Coh&eﬁ %T ;uo degreeg. ,

6. ‘EVahvla,‘te the folloWing:
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7 Below is a unlt circle. Put your answers next to the correspondlng pomm on the unit
01rcle :
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+ 69 ot B ( a) Point A éorreéponds to what angle in degree measure?
% (b). Point B c'orrevspondvs to what angle in radian measure?

i (c) What éii*e the coordinates of Point C'7




